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1. (lassify each of the following as an element, a compound, or a

mixture, Justify each answer, {R%)

(a) Calcinm exide

{(h} Antimony -

{c) Millk

(d) Ice cream

(e}l Ink

iy Acetic sed

(g Stael

{h) Pure water
. Write formula for each of the following compoand.  (§%)

(a} Sodiwm hydrozen carbonate

b Carbon dicxide

(o} Acetone

(d} Alominum phosphate

(a) Ammonia

{ft Mercury
4. From the curves shown helow, indicate the normal boiling point for

dicthyl ether, ethapol and He0, respectively. (9%:
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4, To follow diagram shows vapor pressures zhove a mixture of two
volatile liquids. Indicate where does Racult's.or Henry's Law exist?
{8%)

A prp—c X, -
_I; 3 - X =2

o

Write down the names {or formula) for at least three foarms of carbon.
. (3%}
8. In the YBaCuz;07 cowmpound,
(a) Whal are the oxidation states lor the copper atoms?
() How do you verify these oxidation states by chemieal methodg?
[ 10%)

7. Aacerbic acid (vitamin )13 a diprotic acid, HoCgHgOe. (a) What is the
pH of 2 0.1 M solutren? (b) What iz the cancentration of aseorbate ion,
CeHgOgE7? The acid ionization constants are Ka; =7.9x 10-5 and Koo =
1LEx 10712, (10%)

8. Scdium hag the body-tentered cribic strueture, and its lattee

parameter is 4.28A. (10%)

(a} How many Na atoms does a unit e2]} contain?

{b) What fraction of the volume of the urit cell iy cccupried by Na
atoms, if they are repressented by apheres in contact with one another?
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10.

11.
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A chemist vaporized a liquid compoond and determined itz density, If
the density of the vapor at 80°C and 753 mmIlg is 1.685 gf, what is the
meolecular weight of the compound?  (7%) ’

State whether each of the fallowing sets of quantum numbers is
permissible for an electron in an atom.. If a set is not permiesible,
explain why.  {10%)

fal n=1,I=1 m =0, mg=+

g [P

(b} m=4, =1, m ==2 my=—

b b=

(2] n=2 I=1 m=0m;= +%
(dY n=2,I=0, m =0, mg=1

Ap experimenter makes ap a solution of 0375 mol NaaCOg, §.125 mal

CalMMOsg)e, and 0.200 mal AgNCain 2,000 L of water splution. Note any
precipitations that scour, writing & balanced equation for sach. Then,
calculate the molarnties of each ion in the solution.  (10%)
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